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In whkh unit is the pe.rformanoe of c.ache 
memory measured'/ 
a Hz 
b Bilsls 
c. Cache constant 
d. Hit ratio 
Match Last • I with List·ll and select the. 
correct answer using. tl1e code gl\ en below 
the hsts : 
Last . I (Program Required in System 
Software) 
A. Lan ker 
B. Loader 
C Interpreter 
0 Compiler 
Last - 11 (Definition) 
I 11 is a program whkh combines 

smaller programs to fonu a siugle 
program: m•d. also I inks subroutmes 
with the main program 

'2. It is a program ~>hich loads machine 
codes of a program onto the system 
memory 

3. II is a program 11luch lranslaJes u hi..Yh 
level program into machine code. 
executes it ru1d reads one stalcmcnt at a 
time. executes and then goes to the 
next statemeJils of the program 

4 It is a program which translates a high· 
lel'el program into a machine 
language. reads the entire program and 
then executes 1t 

A B C D 
a I 2 3 ~ 

b J 4 I 2 
c. I 4 3 2 
d. 3 2 J ~ 

Whicl1 one of abe following is ~1e most 
swtable definition of ARRA Y'l 
a. It is a collecuon of items which share a 

common name 
b It is a collechon of items which share a 

common onme and occupy conseculi 1 ~ 

memo!) locations 
c. It is a collection of items of fue same 

ty pe and storage class 11~11ch share a 

4. 

5 

6 

7 

R. 

common name .and occupy consecutive 
memO!) localions 

d. n is just a collection of unordered 
items 

In a microcomputer, why ure wait stales 
used? 
a. To nuoke lhe processor W;1it during n 

DMA operation 
b. To make ~1e processor 11:ut during rua 

interrupt processing 
c. To make 1he processor wnit durmg a 

power shutdo1vn 
d. To mtcrface slo11 peripherals to U1e 

processor 
Cot1sider the following C statements 
I X= l, x-"+. 
1 II define max = 40. 
3. x = 1 .. ,--_ 
4. For (i=O; i<= l : i++) 
5 I prinlf r·r = %d\n ' '):I 
Whfch or the C statements given aho1·e arc 
not correct'/ 
a. I and 2 only 
b I , 2 aJJd 3 only 
c. 2 and 3 only 
d. 3 and 4 only 
What does the minimizing of \be memory 
requiremem of a program menJJ? 
n. Mn.XJ mi zmg number of mncro calls 
b. M]nimizing number of macro calls 
c. Ma"•mo,~;ing depth ofrecurs•on 
<l Both (a) and (c) above 
WhiCh one or the foliO\\ ing IS tho correct 
sequence of the numbers ropresented in the 
series gi\en below'! 
(2);, ( I 0),,, (I I )l, (I 4 )<, (22),, ... 
a. 2. 3, ~- 5. o. _, 
b. 2, 4, fl. M. ltl, " 
c. 2. 4. 6. 10. 12 . ... 
d. 2.4. 6. 10. tG, ... 
Assume that only x and y logac l~uts a'! 
nvnllablc. and their complements x and y 
are not 3vail able What IS the mi nimum 
number of 2-input NAND gates required 
to unplemem xffiy? 
a. 2 
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9. 

10 

I I 

12. 

13. 

b. 3 
c. 4 
d. 5 
The product ut' which ul the t'ollowiug 
givos th~ 1igure o t' m•rit of u lugic tamil} 9 
a. Gain and bondwiJth 
b. Prop.1gation delay tl me and power 

dissipation 
c, Fan-out aJld pwpagauou dday tiwc 
d. Noise marginuJJd power dissipotiou 

X 

C- -l----1 
For the logic circni1 given nbovc, what is 
tho ~impl ificd A(>~lem! flllJttion'l 
n. X - J\B I C 
b. )( - HC I t\ 
c. X = t\H I t\C 
d. X=t\C B 

L Q 

. OJ( 

Dllloo-
"' Q 

For the circuit (sbol••n iu the above f1gnrc. 
wl>al is the i'retjucncy of UJe output Q1 
n. 'f"ice IJ1e input cloclc frequoucy 
b. Half the input olook li~uoncy 
c. Same as tbc input cluck ltcquency 
d. ln''ers<> of I he prupugatioo delay of tho 

I'F 
A I ms puis" ""'n '-"' convc11<><1 inlt> u 1 C) 
ms pulse by u.~ing which ooe •1f the 
tollowing1 
u_ An :IStahla mttllivibrutor 
b. A mouostuble wultivibwtur 
c. A bistttble multivibnttur 
"- A 3-K flip-llor 
The cll:.lmt>teristic equation of u !lip-tlop 
givas th~ oe:ott Slute OrH in t<rllls vr tho 
pre~u t ~tor~ ON und lh~ inputs. Whic.h olio 
of lbe following is UJe clmracteristic 
<~quuti•m t>f .1 -K Jlip- Oor? 
o. Q,.,, : iQ_, +KQ.v 

b. Q .. ,, =.I + KQ,. 

c. g N I! ;: A.Q## +7(2"' 

d. Q • • , =A' +]Q" 

14. 

15 

16. 

17 

IN. 

2o( I' 
for taking antenna liu licld pattern_ what 
must bl! the dislnncc R. butweon 
trtUlSmitl1n!; aud receiv1ug aoteonas'! 

a. II > 20' 
.4 

b 
~D'.l.' 

R >--
3 

D' 
c. R >--, 

2A-
201 

d. R >- ,-
4 

J\ transmitting antenna has a gain ol' I 0. ll 
is fed wiiJJ u signal pOwer of I W. 
Assuntiug frec-spaco propagahon. what 
power would be captured bY.; n rcc.civing 
a,ntcnna of effective arell I m· in !"he bore 
sight directiQn u1 a di$lllnc~ uf t m? 
a. lOW 
b. I W 
c. 2W 
u. O,RW 

What must bu the angle 0 of u corner 
retlcctOr, :;uch that un incident wuvo is 
reflected in the same direction? 
n. 30~ 
b. 45° 
c. 60° 
d. 90° 

Th~ hybrid T is ideal, rorfectly matched 
on nil ports. The VSWH nl'thc input i• 
• . 2.0 
h. J 0 
c, 25 
d . • \5 
The fnmnhofcr region where the pancm 
mcasurerncnl of lmnsmining onlcnnn has 
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19. 

20 

21 

22. 

2.3. 

to be- tn~cn is from 3 . r 20' 
d 1!1.1anac o T 

where D 1s 01e maximum apenure 
dimension anJ ;,. is the rrcc-spaco 
wavelength. Whnl IS this rogion gcncmlly 
known as'/ 
a. The near ticld 
b. The far ticld 
c. Quiet 1.ono 
d. I ndnction tield 
Two micrownvc sign~ls. travell ing In th~ 
free space have a pnlh length diiTcrcnc<> nf 
3 em when opemhng nl 10 Gll7 . Whnl is 
thu relative 11hase differenco uf thu 
signills? 
~- 2 n 
b. 7t 

c. 3 it 
d. ~" 
In a dielectriC mediUOJ nr c,. (given II 

=F.) whnt ts the e~pression ti:>r the 

wavelength (:I.) of :1 microwave sigonl ? 

" (1, ,. r 
b. 

1/C -
J 
c 

"' ,if 
d. None of tlu: above 
Poynting vecwr 1s 5 measure of wlticb one 
olftbe foUowing'/ 
a. Maximt1m pOwer !low through o 

surt3oe. surrounding lbe source 
b. Avcrogo r>uwer llow thr<>ugh the 

!)url:ilce 
c. ltm:uuaueous power Jlow tJmmglt tJ1o 

surface 
d. Powcr dissipated by the >ttrfuce 
In the- lcrn:strial paths of a naitJrowavlil 
commUilicahon system. which teohnique is 
usunll) adopted Ill <ll'crcome sisual luss 
due to earth · s cwvatuJ'I:'I 
"- Liuil repealers nrc ill'l1lllgcxl \\ ilb 50 km 

Ufl'll1 
b, Lmk repeat.e1·s are (IJ'nutged 11ith 500 

ian apart 
c. Signal amplifierS arc arrangttl lu every 

5 k:m 11pan 
<.1. Pba.se correctors are located ia c1•ery 2 

km apart 
What is the addition of (-M),o and (80h6? 
a. (- 16)10 

24 

25 

26. 

27. 

28 

b. (IO)to. 
c, ( II 00000), 
d. (0100000), 

J of 11 

Fu1' whioh une or the. ioHowi.og problems. 
rec-1rsive soluti<m exist~ but nuo·recurs1ve 
solutioo dues uot? 
a. iower of Hanoi 
b. f-actorial cnmpnt.1tiou 
c. TAlc '"'' crsal 
d. No such problem exist> 
In a clns.<-13 push-run opcrnlion. the d.c. 
po11cr dnllvn is 28 W, Whal i~ the l»ll'er 
delivered b} tho ampliJicr at the idtol 
nut.ximum cfli.cicmcy of flO'''tr com·ersio11? 
u. 28 w 
b. t~w 
c. 22W 
d, 7W 

For the ampltlior ~b!)wn In tlte tig11re given 
above. dtc lower cui-off f rcquency 
depends on which of the following 'I 
a. C. t.:E. wlel'ln.d junc1i11u capacitances 

of trnosisto1 
b. Siro n£ wiring capacitance (Cw), Cc 
•. cs. c£. c.,. 
d. Cs. CE <'IllY 
The 3-dB cuH>I'f frequency of o d.c. 
amplilioris 5 M liz. What is 11s rise time'/ 
a, 351) ns 
b. 200 us 
o 70 ns 
d. 35 ns 
Which ooe <If Ute fullowing state.ttleots iS 
corrccl? 
The rise lime ofnn nmplilicr is 
o, directly pruportionnl tu the upper J-d13 

frequency 
b. i nvcr.;ely proponional to U1c upper 3-

dU frequency 
c. directly prorortional to tJ1c lower 3-dB 

frcquc.ncy 
d. inversely proponionnl to the lower 3· 

dO fr~-qucncy 
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30_ 

31. 

33. 

34, 

ln a11 aiTIT>lilier, the tJower ""il"'' i~ 2 w al 
5kHz, and ()) W at 50 Hz. lf the input 
power is eon~lant at 10 mw. \vhitl i• the 
variation (appmxima!e) o f lJOWer gain i11 

dB ai t\VQ frequencies? ( log102 "'0.30) 
a, 6dB 
b. 8 dB 
c. 3 dB 
d. 10JB 
A power supply bas a full-l<>ad voltage of 
24 V What is its no-load voltage for 5% 
regulation (rounded to theJtcarestimeger)? 
a. 12 V 
b. 23\1 
c. 25V 
<L 6V 
In '' negative J'eedback amplifier. wlien i~ 
tl1e. mpm tmpedance increasecl? 
a. Jfthe. signal sampled is a voH:lJ!e 
b. If Ute. signal sanrplecl is a cliiTent 
c. If tlte feedback signal1s a voltage 
cl If die feedback signal is a current 
A tuned amplifier 11M peak ontpal nl 2 
MHz and quali~· factor 50 'lll~ bandwidtlJ 
and 3·dB frequencies shall be at· what 
values respectively 7 
a, 40kHz, 2.02 MHz, 1.98MHz 
b. 40kHz, 2Jl4 MHz, 196MHz 
c. 80kHz, 2.04 MHz, l.96MJ:fz 
d. 80 kll2, 2.08 MJ-12, L92 Mllz 
The pinch-,,ff voltage V ~ +6 V for a. P­
channel WET. lf V G~ = + 2 V, what ls tlie 
\<alue of V os at wllich it will Jmter into 
saturation region'/ 
a. 6V 
b. - 4Y 
c. + sv 
<L +4V 

' .... -
! 

What· ill lite outpnt volrnge V~ ~fllte above 
circuit? 
a, - 11 V 
b. 6V 
c. ll v 
cl. -!SV 

35-

36. 

37 

38. 

4 of 13 

' - .. 
Wh.at is he output volln,ge VO of1he above 
circuit? 
a. -Ll V 
b. + 1,1 v 
c, LO V 
d. IOV 
A •sertl on (A) : When a h:'dnslstor is raken 
fh>m hard saturation state to OFF Ute 
storage time plays a stg.ni.ficrutt roie in 
de01d.ing tlte turn OFF time of tlte 
P'&t>'istor. 
Reason (R) · The exoess minority carrier 
conccno·ation in d1c base region sltould die 
down by recombination pro~s whiclt 
mostly contributes to Ute storage tin1e 
during 1he tum OFF proress of the 
tnmsi st·or. 
a. So~1 A, and Rare individually true and 

R is- the correct explanation of A. 
b. Both AJ ami R ru-e individually lnle but 

R is n<ll the oorrecl •~'Planation of fl. . 
c, A is lme bnl R is false 
d A is false but R is tme 
Asserti<>n (A) - DMA is lltsi'!!J" tlmn either 
Interrupt initiated 1/0 or Polling based 1/0 
for very large data lrartsfers, 
Reason (R) • DMA takes control or tlte 
system buses and needs no processor 
intervention during the dallltrnnsfe:L 
a. Botlt A and Rare individually tree ru\d 

R is Ill¢ ooo-ect explanation of A. 
b. Bodt A and R are individually true but 

R isnof tl1c correct expl anation of /L 
c. A is true but R is false 
d. A is false but R is true 
Assertion (A) _ Neumann machines are 
called Conb·ol ffio,v Computers. 
Reaso11 (R) : 111struclious are executed 
sequentially "" conu-olled by a prognun 
counter. 
a. Both A and Rate individually lnJe and 

R is the correct explanation of A. 
b. Bo1h A and R are i.ndividmUy in"' b1,1t 

R is nN U1e c!lrreol explunation c>f A, 
c, A is true b1li R is fulse 
cl A is .fu!Re but R is true 
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~9 i\sser11on (. \ ) Data-flow I!Ornpulcri 
e~q~loit maximlim parnllelism. 
Rea:«m (R) . O!~t-110•1' computer. r-e<juirc 
t'W t)JOgtam counl.tl'. 
" Both A ;~nd R lire individually tm~ ~ncl 

R ~~ I he correct expl~nMion of A .. 
b. BoUt \ and Rare iudividuall)' trw:: hut 

R i~ not tbe correct e~plonntion of 1\. 
c. A ~ lnte bul R i< fal•e 
d. A is I'• b o but R i~ lnle 

~0. Ass<ll1ion (A) : Many Jllhl¢t' device~ 

utiliz~ .lbe case ilaclf ~s one of the 
principal current-carrying torminab, 
Reason (R) : Such a connection moxtmizes 
Ill~ tltcrmnl resi$t,utoc bctWc'<lll thu 
working semiconductor~ and lhe t.r.msi.stor 
c:ase. 
"· Boll> A ;and Rare individua lly true and 

R is II> a correct <:xplanntiou of A 
b. Both A and R are individually true but 

I( is not the correct <:.'lplilnation of A, 
~. A is true but R is false 
d. A is falsQ but R islruu 

41. A .. ertion (A) ; The three electrodes. 
S<>orce. Ot•ain and Gate of o F!!'l 
cotte'lpoud lo EmiUoot•. Base •nd Collector 
of u junction tr•nst.lor respectively. lnpol 
5igno l is generally applied to tho gale nnd 
g4l~ volloge V11 controls llte electric field 
iu the chunnol. 
Rcakon (R) : In tho irtt>ul cin:uit, lhe g!>to 
:mtl the c.hnnnel ~ct ~k~ two pl11t0l! nf' " 
c•J~tcitoo·. A chm·s~ ,,r one polarity nn u,., 
!)ate induce$ JD equal and opposite choJ-gc 
in the channel. A• n re.<ub lite e<>ndu()tivitv 
.-.r the ch:tnnd c:m be incre:t~(C'(i or 
llcc-ren.•cd by V r;;. 
"· 13otlt :l. nod R arc individuolly ltu~ and 

R i' d1e C()n'Ccl e~pl•n:tlinn nf A 
\>. R<Hh ,\ ~nd R ;Ire individually true hut 

R iJS not the correct<:~f>l•n•lion nf 1\ . 
.:.. A i> true but R i• f•b~ 
d. A ~ ful!e bttl R is lrue 

42. As•<:r1f<ln (A) · In n ll!h.1l)-ptogmmmtd 
CPU. each machiu~ iusliucLiou is extx:uled 
b)' :1 rc3l..,tlmc UtlCI'f11 ttcr. 
Reason (R) ; Reol-time interpreter helps In 
achJeve blgh degree p•ralletism in micro­
programmed eonliol. 
n. Both A and R arc individua lly ltuu ""d 

R is lhe con-eel explanation nf A. 
b. Both .-\ami R arc individually true but 

R is not the con-cct expi~Jtation nf A. 
c. i\ is ltuo but R is false 

44. 

-IS. 

46. 

11, 

5 " ' IJ 
d. • \ i• false but R i• true 
l)ivi•ion b)' 1.ero in 3 program gives rise to 
"hid1 une vl' tlic tollmvin&'! 
'" Synlns: c.:n'Or 
b. Run-l ime error 
e l,ogical err(>r 
d. Scmnnt.ic error 
CoMider the following •tutem.:nt.s on 
binary tree: 
I. A lr<:c wiOt n ll01le> ha.q (n - l ) edges. 
2. A l•l>cllcd uud tulttod hl!lbt)l tree cJm 

be wtiquoly oonslt'Uc~ giv~n its post .. 
order and pre-<lrder troYersa l result~. 

3. The nwximum number of nodes in a 
binary trw of hcighl (dt.:pth) h •• ct•+l 

1 ) . 
4. A complete binary tree with n mtemal 

nodes lt11s (11 • IJ leave.. 
Which of the statemcnls given above arc 
correct'~ 

a. I. 2. 3 ~nd 4 
b. 1.2aod 3only 
c. 1 aud 3 onl) 
d. 2 and 4 only 
Which of' the following are inclnded in the 
arcltilcclw-c of computer'/ 
L Addressing modes, dll'Jign ofCI'lJ. 
2. ln_~truction .-.et., dar:. form:tt~. 
3. Secondary memory. opernting system, 
Select the C<lm:d un~wer IL•in.g the code. 
siven hclow: 
4. I and l <mly 
5. 2 3Jid 3 only 
6. l •nd 3 only 
7. I. 2 anJ 3 
When the He>olelm f\m~tion 
Fl:tt x, ~) = t(O. I. 2. 3) + ~.,(4, 5, r.. 7) 
is tn.in.intized. wlial do~ one get? 
a. I 
b. () 
C:, :\ I 

d. XJ 

CotL<id~'r tho foliO\\ ing statements: 
~·or 3 mpltl varL1bles a, b. c; a lioolean 
funetion y = ab + be + c.a represents 
L n 3-input majority gala 
1. n 3-inpul minority gate 
3. carry oulrnt or a t\JII adder 
4 . ptmluct circuit lot· a. b a11d c 
Which of lhe nbuw stutemc111J< arc com:cl'/ 
a. I and 4 only 
b. 2 attd ~ only 
e. 1 and 3 only 
d. 3 and 4 only 
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48. 

49. 

so. 

51. 

By inspecting tltc Kamangh map plot l'f 
t:lk: >;WitcllWg foncnon 
F(Xt X~ X3)= L(l ' 3, 6, 1) 
qne can say that the redundant prime 
implicant is 

a. XIXj 

b, ~ X' 
c. x 1 x:z 
d. X } 

1fatclt list- I with List - U and select the 
t·<m·eet rulSwer using the code giv<'lt bel"w 
the .lists : 
List· I (Boolean Logic Function) 
A, ab+ tll: + t>~+ ~bc 

B. ab + ah + c 
C . a +bc 

n. (a+ii+C)(a t b+c)('a+ii+c) 
List - ll (lnver~e of Function) 

1. a(t> , c) 
'2. ab + be aa 
3. (a$ 1>)0 
4. abc abc . abo 

A B C 1:) 
~ 3 l I 4 
b. '2 3 l 4 
~ 3 2 4 I 
~ 2 3 4 I 
Why doe~ mt et. (Integrated Injection 
Logic) have higher density of htl>!gration 
than TI'L ? 
a. n does not teetuire transistors \\~:fltltigll 

current g1lir1 and hence th.ey have 
rnm!Jer geomeby 

b. It \1Ses multic<.lllector ttllnsistors 
c. lt.does, not regtlire.isolation diffitsi.on 
d. It uses dyllllmic Logic insteail of static 

logic 
Consider the following statements: 
I. 1. Minimit.ation using Kru:naugh map 

may not provide unique solution. 
2. 2. Re<fundant grouping in Kalllllugh 

map may .result in non- minimized 
solutiotL 

3. 3. Don' t care states if used in 
Kamaugh map for mi nimizatior1, lite 
mini)nal sol ntion is not olltrnned, 

Which of the statements given above are 
correct I 
a. 1, 2 and 3 
b. 2 and 3 only 
c. 1 and 3 only 

52. 

53 

55. 

6of iJ 
d. I and 2 only 
M atcll List - I with List - ll and select the 
correct answer using th13 code gi von bel ow 
'the u ""'; 
List - 1 (Logic Gates) 
A. I~TL 

B CMOS 
C. I"L 
D. ECI., 
List- IT (Characteristics) 
l. High fim-ottt 
2. llighesl speed of ope.rntion 
3. HiglutoisenlWlWuty 
4. Lowest product of power and delay 

A B C D 
a. 3 2 4 I 
b. 4 2 3 J 
" · j 1 4 '2 
d. 4 I 3 2 
Why docs lilt increase of the RAM. of a 
c·omputer t)1lically improve perfonnance? 
a. Virtual metJJory increases 
b. Larger RAMs nre faster 
c. Fewer page faults occur 
d. Fewer segmentation faults occur 
Consider the following ;;tatements: 
I. CMOS gaws r"'!ui.re V\.'fY little power 

when tl1ey are not h:u,ging s!att?S. 
2. Tr.msmisswn gates are widely used in 

CMOS designs. 
3. CM.OS circuits have considerable 

resistance to noise. 
Which of Ute- statements giveu above ate 
correcf/ 
a. I and 2 ouly 
b. 2 and 3 only 
c . 1 and 3 or~y 
d. J, 2 and 3 

• --:--y.·..;._ 
i -' L.-=-· ___:. _ _J 

Tlte black. box in tlte above figure con..<ists 
uf ll mirtin1Um cornvleltity circtrit that used 
only AND, ORand NOT gates . 
The function 11:x, y, z) = I whenever x, y 
are diflimmt and 0 otherwise. In addition 
the 3 inputs x. y, z are never all the same 
value. Wllioh one of 01e fonowing 
equatilJils leads lo lhe CQrrecl design for 
{he mininltull comp)e.><ily <ircwrl 
a. 1t'y+ xy• 
h. x+y'z 
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51\. 

57. 

58. 

59. 

(i() 

c. .~'y'z' - '<)'' £ 
d. xy - )' ,£ - z· 

A--__;.-;-.., 

I 

The is circuot. shown ~bow funcrionnlly 
equivalent to whoch one of the following? 
u. NOR gute 
b. OR gate 
c, llX-OR guro 
d. NAND gute 
V.~1icb one <>I' the t(>ll(lwong statcmcnL< is 
C<irt'<:OI'/ 

a. Struio I iti!Zard may occur in a 2-levcl 
ANL>-OR gnle nctw<>rk 

h Stutio 0 luozar<.l may occur in u 2-level 
AN'D·OR gat" nct\\ork 

c. Dynnrnio hazards onuy uccur in n 2· 
lcveiOR-AJ"m gale n.Jtworl.: 

d. Essc.ntfal hazardli may occur In .ta 

cowbinationallogic eorcooot 
When two 16-input rnul tip lc~<Crs urive u 2-
inpurt MUX. whal is the result? 
8 . 2-utput M UX 
b. 4-input MUX 
c. 16-input MU X 
cl . . 12-inr>ul MUX 
CollSidcr ~oo iollowinjl. stulcmcn ts with 
t~>[erence ro relntlve stability or a system • 
I. Phase margln is rclutcd to el'ieotlvo 

damprng uf the system. 
l . Guio nmr!.lul goves beller ~sumate of 

damping rn6o tluuo phase nonrgilL 
3. Wh<111 exrressed in dB , gain murgin is 

uegntive of n S11lble system, 
Which nf th~ Sl:llcrllcnl5 given abo~c are 
ll()n'e<!l'/ 

tL 1 tuJd 2 ouly 
b. I and 3 ouly 
.:. 2 tu!d 3 only 
d. L2and3 
Wbich one of the iOIItlwing Sltllenodol' is 
cOrrclcl Ji>r guin nlargin ond pba~ margin 
uf two clo!i<!d-loop systems ltuving loop 
functions G{s) I·IC~) und oxpHJG{s )H(s) •1 
<1. Both gain and pl1ase mar-gins of the 

two systems 1\ ill be identical 
b. Oolth guin aud pha,., nlUJ1,>iM of 

G(s)H(s) wil l be more 

6 1 

62. 

63 

64. 

7 of 11 
c. Gnin margl ns of the two .systems arc 

the same bril phase margin oi'U(s)llls) 
\Viii I:» mc)re 

J. Phase margins or tltc two syst.GIUS are 
the st1111e bru guin margin vf G(s)H(~) 
will be less 

Match Lisl- 1 with Ust - ll and &:leot the 
Cf!ITtlOI uuswtr u.si ug tb~ cod!! ~ive1l behnY 
the lists: 
List - I ( Plot!Diugram Cburt) 
A. Constant M loci 
B. Constant N loot 
C. Nichol's chart 
D. N)<Jujst plut 
Li;t -D (Ciumocteristic) 
I Conswut gain und pha!>e slull l<~cJ of 

the closed-loop system 
2. Pl01 of loop g~in wiih vuriatiun of''' 
3. Ciroles of construn gain lur closed· loop 

tran~fur funcTion 
4. Circl.}s of constant phasa shlf\ of 

closed-loop trnnsfer function 
f\ R C D 

~ 3 ~ 2 I 
b. 3 4 2 
c. 4 J 2 I 
d. 4 3 2 
A ctmtroller trmt.sfer func1inu IS giv~n b~· 
C(s) - (2s 1 l)1(0.2s I). What L• IL' 

nature- Utld pamotel·cr'? 
a. Lag contro ller. o. : I 0 
b. L~ cc)ntroll~r. a : 2 
c. Lead controller. ~ : 0 I 
d. l.c;od controllor, ~ 11.2 
Consider 1hc following suncmcnrs for n PI 
COIIl(lellSilli>T ror 3 ''01111'\ll S)'Mem: 
I. It ls cquivaJonl lo adding a zuro nt 

origin. 
2. II reduces uvershoo~ 
3. It i mprovcs order or the system by I. 
4. II irnpn..ves stolady-state orror vf the 

system. 
Which of the statements given abo,ie 3f~ 
correct'/ 
a. L2, 3 aud 4 
b. I. 2 and ~ (>ill)' 
c. 2. 3 and -1 onl1• 
d. I and 4 only 
A procoss os couln•lloJ by a I'll> 
controller. Tile •oru;or bos hrgh 
lllCU~UNJltOJlt I lOise. f{(IW CUU tltis eJl-;,ct 00 
roduced'l 
u. Dy use ur u lmndwidlh limited 

deriv~uvve t~nn 
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b. By use of propor11onal and derivative 
tmnsin the forwBtd pad• 

c. By use ofltigh proportional band 
<l By use oflow inl.cgral gain 

{>$ Mat.:h List • I wrth Llst - £l nnd sele<:t the 
correct an~w..r usin,11111e code given below 
the lists : 
List ·1 (Compouents) 
A. Servon1oto,. 
B. Amplidyn~ 
C. Potentiometer 
D. flapper valve 
Lln·ll (Functions) 
I. Error detector 
2. Transducer 
3. Actuator 
4. !'ower amplifier 

A 13 C 0 
11. 2 4 I 3 
b. J t 4 2 
c. l I 4 3 
d. 3 4 I 2 

6fi In order to permit U1e 8cleclio11 of I out uf 
16 eqoiprobable evenll, whut ill lite 
n11mber of bits required? 
e. 8 
b. 4 
\!. log,ol6 
<l 2 

67 \\i1ty does an FM radio srtation perform 
better lltan an AM station radiating the 
illlJlle totll power/ 
a Ft. I is imnmne to neue 
b. 1\M h'!S only IWtl ildebands \\ ltile Fl>l 

has more 
c. FM us"" larger bnnd111rlth for large 

modulation. dcpt:h 
d. Capi:w'c effect 1tppc1111! in FM 

68. What is the typical bwldwtddt of a 2-wire 
telephone line? 
11. 300 H:. to 3.4 kHz 
b. 20Hz to I kHz 
c. d.c. to 4 kHz 
d. 20 Hz to 20 kHz 

69. On modulating a carrier of frequency f. by 
rut andio signal r,, the following 
\!Omponenll< have rl'!llUIC(~ 

f,, f, + t~ and f. - r, 
\\11mt ts this type of modulation Likely -ro 
bo? 
a. Antplitode modulation dsb 
b, Single sideband modulstiou 
c Frequency modulari<1n ortly 

70 

8 of!J 
d. Antplimde rnodulebon or frequency 

modulstioo 

·.· 
.. I :•t l&ot 

11&1 
(h--

. 
The ooiiStellstion diagram of a modem h$ 
four states as ~hown in the 6gure given 
above. What isOto bit rnreofUtis modem 1 
a_ Two times im band rate 
b. fo;u- times its L•mu mte 
" . Same as band r.t te 
d. S uffi.cienl infonnati(ln a a not giVen to 

give ft1e answer 
71. A carrier signal al frcq uoncy 100 M.Fiz its 

&cqut'tlcy modulated w•Ot modulation 
irulex 2 by a ~igrull a1 2 kJJz. At what 
frequencies are the sidebands produced? 
a 102 MHzand 98MH:z 
b. I 00 MHz + 2kHz, and I 00 MHz -

2kHz 
~- 100 Mil?. .bL\(,, Wltere fd IS fi'eqU<!tlC}' 

deviation 
d. JOOMHz ~ n2kHz, wher.cn .is J, 2, .. , 

5 i11teger 
72. Which one of tho following JB Ote code 

that is very d01<~ to 'tr~lli• coded 
modulation'"/ 
a Combines analog \Vd digital 

modulations 
b. Combines modulllllOII and encodm2 
~. Encod<'S following lfdli• diagram -
d. Combines amplitud~ nnd fttliJuency 

tuodulation 
7~ The modulation indW> of tort AM JS 

changed from 0 to I How does the 
transmitted power chan~e? 
a. Gels halved 
b. Gets doubled 
c Oers increased by 50 rcrcent 
d Remains unchanged 

74 Which one of the follo1111tg Is oorted? 
a Coding reduces the nolse iu !he signal 
b. Coding delib"·atcly itttroduces 

redundancy into mcssuges 
~. Coding increases U1c rnformatiMI rate 
d. C<'ding fncrenses tht> clmnnel 

bandwidiJJ 
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75. 

76. 

77. 

78. 

79. 

In ~ PCM svstem. if we increa.sc !he 
,,uanti7.at1on level~ li·om 2 to s. hoi\ do !he 
rcl11 th e hhndwidtll rcqui,.omcnl• Vol'{! 
u. Got duuhlcd 
b Get tripl« l 
c, R~m:•in 
d. Bee(lmccightt imc. 
!I IDtoh List - I "itb Li~t IT and ocleo:t lb<> 
currect ~nswer ~>sing the code glven heln\\ 
the lisL' ; 
Li•t - 1 Cl'i>l'e ofMcmvl')) 
A DRAM 
B. DSRAM 
C. Parallel Access l{egil.ler> 
D. ROM 
Li•t-U (Used ••) 
I. ('no he memory 
2. l\111 in memory 
3. ruos memory 
4. CPL' registers 

A H C I) 
a. I l 3 ~ 

b. 2 1 4 3 
c. I 2 ·l 3 
d. 1 I 3 4 
flu"" tuetuOI')' .:hips '"~ of size 1 .IU3, 2 
KB nod <IKB. Th<>ir Jddruss bu• i• 10 bits. 
What nre the daf~ hus si7.es of the chijYs'1 
a 8 bits. 16 bits and 24 bits respectively 
h. S billl. 16 bib anu 32 bit~ rcspcoti vcly 
c. 81iit.~. I(\ bit~ and 64 bit• respectively 
1i 8 bits. 16 bits and I~ bits respectively 
·n,o following micro-operations 3re 11ar1 of 
1ntciTUVL cycle of a couu·oi unit ; 
l. MAR<- s:lve·addres. 

PC _._ rouline :1ddooss 
2. MBR<- (PC) 
3. Memory- <MBR) 
Which one of IJJ~ loUowing i• tl1c CCITC<ll 
ord<l!' ofllteir occurrence? 
a. I 1- ~ 
1!. 2- 3-1 
c..2-l - 3 
4. 3 - 1 - 2 
A tnemory ~yslem of size Ill Kl>yt"" is 
required to he designed using memory 
chip> which hn1•e 12 addre.,'ll lines and 4 
datA lint:S ct1ch. Wha~ " the number of 
<uch chqJS required to ilesign the memory 
sysLcm'l 
a. 2 
b. ·l 
c. s 
d. 16 

? <>t tJ 
SO. Comider the followin_g •lalcmcnts : 

I In 8085 mic-roprocessor. the pn irs of 
general purpose registers fill' 16-bit 
op<;rotiou ar" A-B. C- D ood H- L. 

2. In 8085 microproces•or_ 1\te chota and 
the addres~ onultiple.,cd hus ~' kncJwn 
ns ( t\D>- AD,J). 

~- In 8085 microproco;s.or. 1\LIT i• used 
to opaate multiplexed dot" nddr<...,.s 
blL< . 

'Wltich of th" sl!lletllcut~ gil~-..1 hbovu ore 
oorrcct 1 
a, I . 2 and 3 
b. 2 and 3 only 
c. 1 and. 3 only 
d. 1 and 2 only 

81. 1\ l•tch List - I with List- II and select the 
CHD'ecl answer using. tJu: cude given. below 
the lists : 
Li.st - l (Instruction of~08S) 
A, R$'1' 6.5 
.B. Ll\'11~ 
C. TRAP 
D. HLD.\ 
I isl-ll (Function ofrnslruction) 
I. Uigbest pl'itll'ity of interrupts 
2. Vector interrupt 
" · lntemtpl request 
4. Hold acknowledge 

A B C D 
a. I 2 3 4 
h. I 2 4 3 
~ 2 > I 4 
Q 2 3 4 I 

82. Whi~h of tho 808~ mic-roprocessor 
following_ ore t'e:lture~ in nn wst<m with 
memory m"Jlpcd HY1 
I. 1/0 clcvic"" lmve 16-bit :odd1'tl-.a~. 
2 110 devic"" 11re IIC~e~~•ed us in_g TN nnd 

nlrr instructions, 
3. TI1"rt ca11 be IO>.~imuro of 256 input 

devices And 256 output dwic.,.. 
Select the c'Orrect on•wer using the code 
&h'tn below ; 
a. L 2 and 3 
b. 1 :md 3 only 
~ 2 and .' on ly 
d. I and 2 on I)' 

85. Matoh List - I with List -11 and •elect til" 
con"Ccl ans\\1cr using tl1c codo give-n bdo\V' 

the li.•t• : 
L isl-1 
A. 8255 A 
B. 8279 
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84. 

85. 

c. 8254/82$.3 
D. 8237/8257 
List·ll 
I. Progrommnble PcripbCJ'Dilnterfncc 
2. Programm:~hle Tnrerv:d Timer 
3. DMA Contmller 
4. Progrrurun>l>lc Kc;ybOar!l! Oi•play 

lnlet{~re 

A 13 C D 
a . 2 4 I 3 
b. I J 2 4 
c. 2 3 1 4 
d. I •I 2 3 
Consider lbe following st~tements . 

·lb., udvnntag_o>. of c~ clc >toallng in DMA 
i• that 
I. it mcrcoses the maximum l10 tran.<fer 

111te. 
2. it reduces the iuiC!'feronec bv !he DMA 

controller in CPL..,s menlOI); 11acess~ 
'i il is l>enelie1~Uy employed for I (J 

devices wi~l shortJ:r bursts of data 
lrnnsl.,r. 

\\ hich of the statemenls given obove nre 
omrect'1 
3. l ond 2 only 
b. 1 and 3 only 
c:-" 2 11nd 3 only 
d. L 2 and 3 
What arc tlte contounud• 1~ tloc a$scrnhk:r 
it.cU: coiled ? 
n Macros 
h. 1\hcro-ins wctions 
"'" M:icro·instructioll' 
d. Psoudo-insb'Ucti(lllf 
Mntt h 1.1<1 · I witl1 List ·II And 'clcol the> 
Corrccl anS\\tr \J.slng Ute t:Otle gn,~c:n, hclt"J\\ 
the lisl' . 
List • J (El.ctrnnic C'ircuit) 
A. r~; 
13. f13 
c. cc 
D. Oorlington Poor 
L.ist · Jl (('harncl.:ristic) 
l. Th< clr\:uit inttoduil<OS o Jlba;c 

inversion or 1801
"" 

2. '1 he c.ircuil is rarely u•ed 
j , 'the name. emitter follower l• also used 

for Uoe c ircuit 
4. The circuit consists of two circuits 

connected m c~1sc:tde-
A l3 C D 

L 1 2 3 4 
b. 2 3 " 

87. 

88. 

M9. 

91. 

c. 
<1. 

2 
I 

I 
2 

4 
4 

3 
3 

Con.<i,Jer the foll<il' ing s tl!tcmc'nt!l! 

10 " ' I, 

Tioc husic f'Ul'Jl05C of bias s tabiJizntiOrt in. Q 

1nmsi~;h>r citouia is to 
1. il•crco.se the vo ltogt: Md current go in of' 

Ute ampliJi~"l'. 

2 make til~ opernting point of the 
tnu,.istor indcpendem of temperature 
vrtrlation of the lr:msistur 

3. make tloe opcnting p<>int indt:pcntlcot 
of tlo<> rcploccn1<mt of tlou same type, 
GeorSi . 

Whidt or the statements given above are 
corttct'l 
>. 1 and 2 only 
h. 2 nnd .~only 

c. I and 3 mtly 
d. L 2 and3 
for a CE amplifier, d.c. load line is whiclt 
one of thefoltowing plots 'I 
a. lc versu• Vcr for a giwn value of IRe 

• Rr!J and V cc 
b. 10 versn• V n• for • given value or (l{c 

- RF.)and Vcc 
c.. Ia """'"' \'ce foro given value of la 
d. k versus Vcn fol' .a given v:t..lu"' of l.e 
Uperatlog point shift c:rn occur in -an 
amplifier due to \Yhich one of ~le 
lbllowing'/ 
"· Input fr:e~ncncy voriation 
h. Noi~e >1 the input 
c. Parasitic C>i>acit311CCS 
d. Po""" ~upply llu&u•tion 
\\IJ,i~h of 1J1e to llowing fcalurcb on; 
off.:n;<l by a hipol3r junction tran:;istor 
amplifier io On~ling~m C(lnncdion? 
I. High vol~1gc gilin 
2. High inp111 imptd~tncc. 

~- Higll current &<•in 
Select. tlu:. ll<)rre<:l ~ru;wor U$itog l)oe eqde 
given below : 
u. 1 and 2 Oli ly 
h. 2 Dlld 3 on ly 
e. I and 3 only 
d. L2and3 
( '.a,code amplifiers when compared with a 
simple common-emitter ~mpliller rrovide 
which of tllofoUowlng'l 
• · ITtgh01· Volla.sc go[u and snmc 

bandwidth 
b . Sanoe. vn lbge gatn bul hight:r 

bnudwidlh 
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93. 

94. 

95 . 

!l6, 

c. No change lu citlter voltage g1lin ar 
bandwidth 

d. Voltage gain less tltan orl" but 
UltlJdwidJJI equal to fT 

F ~>r 6w unity fredback system wid1 

( 
]() L.. • } d G s) 1 woru! '" I te stea y-,tate 

s(.t 14) 
rn-or .resulting from an input 10 t ? 
a. 10 
b. 4 
c. Zer·o 
d. 1 
For a aecond order system, .; ii equal to 
zero itt tl10 trwtsfer function given by 

J 
(0,. 

~~ 2 "ro s I (1)
2 

~ 0 D 

Which one of the following is eon·ect? 
a. Closed-loop pol.e> are complex 

cru\illgate with uegative re>Jl p>lrt 
b, CI<JSed-loop poles are purely 

unagutary 
c. Closed-loop poles are real, equnl a.nd 

negative 
d. Closed~Joop poles wo teal, unequill 

antlnegati\•e 
[ f lite initial conditions for a ~')'Stem are 
lnlrerently tero, what· does i I physi.:W ly 
mean? 
a The system is at rest but stores energy 
b. Tite sysiem is working but does Jtot 

store energy 
c. The syst<Jn is nt rl'SI or 110 enargy is 

stored 10 any ofits parts 
d. 'T'lte system is working with zero 

refurence input 
For se..'Ond-order system 

dl ~ dy 
2-~ +4--Sy~!IX at' at 

W hat is the &mpi.ng rati.o'l 
!1. 0 . 1 
b. 0.25 
c. 0.333 
d. 0.5 
A. c(\!Jlrol system "'hose step response is -
0.5(1 1 e-'a!) is cascaded to another eontrol 
block whose tni]Jillse resp<!nse is e 1 What 
is dte iransJer function of tlte cascacled 
combination? 

1 
a. (s+ i )(s+ 2) 

'h. I 
.s-( s i I) 

97 

98. 

99. 

100. 

lOL 

102. 

J 1 of13 

d. ( 
s + l)(s~ 21 

How can lhe steady-state error in a system 
boHcduoed? 
a. By doo-easing the type of syslent 
b. By mcte<~>i ng system gain 
t\. 13y decreasing tile stalic errc>r COtl$~'l11t 
d. By increasing the input 
Tite characteristic polynomial of a systern 
is 
q(s) ;2s5 + s.4 + 4s~+ 2;?+ 2s+ I 
Which one oftlte followittg is COlTecf? 
The sy$\em ill 
a. s1able 
b. margir)ally stable 
c UJJStable 
il oscilletory 

IC' • 

'----1 II 1----.i 

FQT lite system given above, the feedback 
does not reduce Ote closed·loop sensiti,~ty 
due to variation of wlti.ch one of tlte 
following? 
a. K 
b. A 
c. Ko 
11. ~ 
What is the number of root-locus segments 
whlclt do not tennuurte OJt zeros? 
a. Thenumberofpoles 
b. TitellUlllber of zeros 
c. '!'he di m~rence hetween tloe nllmber of 

poles and lhe nmnberofz.eros 
d. The stun of the nomller of pole$ and 

the numb.<'.r of zeros 
Whiclt one of tl1a following open-loop 
tnmsfer fbn~tious has r.:.ot lo~us p:ll:lillcl to 
imaginary axis'? 
a. K/(s + 1) 
b. K(s + ()/~ + 2i 
c KJ(s + 2)" 
d. K(st 2)/(s + Ii 
\\'hich one of tlte following polar plots 
t'Ol:Tesponthi to 

GU) -
1 

'1 
(jm)1 +(I- jro1') 

Stu
de

nt
Suv

idh
a.

in

www.studentsuvidha.in

studentsuvidha.in/
studentsuvidha.in/


a. .. 
¥'""- -LV .. 

h 

~-

d. 

~-
103. l low C:Ul the. quanti?.ing noiS<c be reduced? 

a. By using de-emphasis circuit. 
1>. By using Rr amplilicriu th" receiver 
c.. B) increasing the- numbe-r of 

•JUlllltizutim l~vels 
d. B)• sending Hloping pulses 

104. Why is del<~y distortion in coaxial cuble.< 
caused? 
a. The dielectric constant (.:,) of tho 

dielectric tilling the coaxial c.able 
\ 'StieS \\ith lrcqucUC}' 

b. Tho amplitude of the stgnal 011 lhe. 
cuble varies with frequency 

c. 1l1e velooh) of <llectromagnetio waves 
propagating on the cabli!: varies with 
frequency 

d. Bc'CUusc of both the tactm'l givCJl m a. 
and c. above 

105. M amrlitier has • power g:tio uf 200. Wltul 
is its gain in dB? (logtu2 "' 0.30) 
11, 14 dB 
b 17dB 
c. 20 dB 
d. 23 dB 

101> Uund"idth of the nrdet of 12 MHz con w 
t!O:Uli:t..cd easily usmg cnrnc:-rs m which 
l'lUI!l"'l 
a. VHF 
b. UHF 

12 of 13 
c. Microwaves only 
J . Opti<:tll frcqMncy tuid microwave.' 

107 Which one nf the follo"ong is the correct 
Slll(CtllQnt? 
Tho graded indc.x optical tll~rc albic can be 
considered to lwve 
a. smnll.:r num~>ricul aperture than stop 

ind"x c.ahle 
b. sevemJ layers of clad und each Ioyer 

hu,•ing a ~111aller ind"~ number relative 
lo its distance from the core 

c. sev!>rtll layers tlf clod and ooch lay_.r 
having n higher index numb<r rolnliw 
In it.s distano~> from the core 

d. larser ~m spre<td 
108. A oudio li•cqucnoy. signal ul a fret1uency 

1000 kHt is w be recet ved by u;;ing 
rellcction from ionosphere. When is i 1 

po.~sible ? 
a. At davtim~ only 
b. By using a launch angle , 60 · to 

nQrmal 
c. lf high power is used 
d. Whet\ frequency is lo" lor broadoust 

ta~e 

109. 11' lhe rellection cpefiicient is l/5. \\4101 i.s 
the corM<fK•nding VSWR? 
3. .V1 
b. 2r3 
c. 512 
d. 215 

Ito X·bumJ t'o-eqneucics nrc in \vhich one of tlu.> 
followiug runges? 
u. 3,5 to 5'.5 OHz 
b. 5.5 to 8.0 OAz 
c. 8.() to 12.() OHZ 
d. 12..1 to 16..1 GHz 

l II Match Lisr- I with List -II und select th• 
corrcc-1 3115\\~r using the code given below 
tltc lists : 
Ltst - [ (M<'<ltum) 
A Mtcrostrir line 
B. Eartlt crust 
C. Troposphere 
D. lonosp~re 
List·ll (Type ofRodio Waves) 
1. Sllrfacc " '3VO 
2. Guided WIIVC 

J . Sly w;w<> 
4. Space: wove 

A B C D 
a l 2 3 ~ 
b. I 2. 4 3 
c. 2 3 ~ 
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,1, 2 4 ~ 

112. M~tch List- I ••ith L.il;t - JI and se leetlh .. 
I!On'c..'i!.l :answer us•us I he code.~ _g.lvcn hclv'A 
thcdisL.: 
List -I (Devic~) 
A. Gunn <liod<> 
B. IMPA'IT 
C. Kly~tron 
D. Parametric amplifier 
I ist -ll (Associatod 'l'~nn ) 
l. Bwtching 
2. Aval:uu:be brcakdowu 
3. LSA moda 
4. U p-conve11er 

A B C D 
a. J 2 4 1 
h. 3 2 I ~ 

~ 2 3 4 l 
d. 2 3 1 4 

11 3 ln trnvelling wave tube microw:.we 
nmptiliers. the velocity modul~lion nnd 
bwt..,hing of elec.ttons are achieved by Uu~ 
t:lcctroma.g.nc lic wave supported in tho 
slo·w wrrve stntcture. 
Which one ol' the fo llowing lield 
cumpouenl• IS t•espunsible fut' thu nbove? 
n. 'f hu alcclric. field c.ompononl 

t:ransveooe to the electron be-.tm 
pt'OJ>agation 

b. ·nt~ cle.;trie t'ioltl C<>111Jitmcut in Ute 
dircd i/Jil ur th<> elech Oil beam 
pr<Jpas llf inn 

c. The magne~ic Ci~ld compol\<:!11 
t rnu~vcmc IJ) the clectJ'Ou bc•m 
prCt(lagation 

d. The magnetic tield roniponont 1n th" 
din:t.Liun \)j' tho cludrnn beam 
pl'i>pagat.i1111 

I t.l fn it kl)'!!tr<>u amplilicr, the mt<...-action 
between lh~ eleciron heam >nd tl1e l'lllli<t 
freq~t:Dcy wove in the rc-t:ntr~nl. covity 
dep<:nds upon the aveu ge gap tJ'llnsit angl~ 
s~- \Vbol is thi. lronsit .mgle? 
a. 'l11e angle'" wh1ch the electron beam 

leaves tlte eentral gap of the 1-e-enlrant 
.:avity 

b. The angle nl which U1c electron beam 
enters lhf' central gnp of the N•enlrant 
ca\lih' 

c. 'The ~ugle al whk h the electron beam 
dlffracfs ri'Om the Ct.'tllroJ gap of lh" re• 
eno·.snt cavity 

13ot t: 
d. 'Jl1e phu$e oh11nge du~ to linite time. 

the electron benm tak'-s to cross th e 
central gop of the rc-cnlrnnl c!>VIty 

115. \VII) i• a r<:Ocx kly.•tli11t 111cillator 
prefcrr~l ns an ide..'ll source in mi"'n)\\ :we 
measu.-emc:ot~? 
a. ll Jlt'ovide:< hi&h power output with 

wide fi-cquency rongc 
b. It JlfO\~des high power mnptll wilh 

s ini!)c frequency 
c. It Jlt'u\id<:ll low t»>wc• output with 

ltigb.Jy slob!~ •ingle fr"<JU<tncy 
d. It proYides low power output with 

multiple frequency componems 
116. To •Vbid difficulti<!S witl1 stropplug •t high 

frequencies, what type of cavity s tructure 
is n•od in the magnetmu'l 
a. Hole and s lot 
b. Slot 
c., V :me, 
d. Rising sun 

I J7 A duplexer I> used for which one or the 
follow ing'l 
a. 'l'o couple two antenn:as in a 

trausmitter with tnlerference 
b. To .isolate Ute anlctmo fi·om local 

oscillator 
c. l'o preven1 lotertin-ence between two 

:u1tennos C()nnected to a 1-eceiver 
d. To use same antenna for roo~ptiuu 011 

lrJu~miss iun interl~rcncu 

liN. Which one of the following h:o• the 
.:Qmbi~ted charscteristics 0 r dieloctric.. 
ol1mic and r>diation I>"-~C~'I 
a. Cttaxi.11 lin~ 
b. Twin pltrallellinc 
e. tvlii:t'Osbi p line 
d. Wuveguido 

110. In ~~ mic.rcn~tn ve <:ire-nit with Wa\'c_guides, 
"lt:ll is a ·w•veguide twi•C used f<~f'l 
•. lrnr)C((>nce mlltcb.ing 
b. Pblt$C shilling 
c. Robling Poynting vector 
d. Rolllting plane uf polorization 

120. The wovoguide (o 1.5 cnL b 1 em) i.~ 

loodcd with • dieloct.•ic (,. 4 ). Wlocll 
one o f tho fOllowing is co JWcfl 
The 8 GHr.Signal will 
a. pass U11ough tlt~ waveguidl> 
b. not p:tss through the waveguide 
c+ be- absorbed in the guide 
d. None of the above 
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